% VCE & PDF https://lwww.geekcert.com/2v0-620.html
' 2024 Latest geekcert 2V0-620 PDF and VCE dumps Download
2 GeekCert.com

2V0-620958AS

vSphere 6 Foundations Beta

Pass VMware 2V0-620 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/2v0-620.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

2V0-620 VCE Dumps | 2V0-620 Exam Questions | 2V0-620 Braindumps 1/5


https://www.geekcert.com/2v0-620.html
https://www.geekcert.com/2v0-620.html
https://www.geekcert.com/2v0-620.html

VCE & PDF https://lwww.geekcert.com/2v0-620.html
2024 Latest geekcert 2V0-620 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which two are true about the Risk badge in vRealize Operations? (Choose two.)

A. The Risk badge indicates potential future problems that may degrade the performance of the system.
B. Risks may require attention in the near future.

C. The Risk badge indicates problems that are degrading performance of the system.

D. Risks require attention now to correct system performance problems.

Correct Answer: AB

The Risk badge indicates potential problems that might eventually degrade the performance of the system.
Risk does not necessarily imply a current problem. Risk indicates problems that might require your
attention in the near future, but not immediately.

Reference: https://pubs.vmware.com/vsphere-60/index.jsp?topic=%2Fcom.vmware.vsphere.vcops.doc%

2FGUID-30184AD9-6790-48DC-96C5-4A38DEEFEAS3A. .html

QUESTION 2

An administrator is unable to create the first group in a new vRealize Operations environment.
What is the likely cause of the problem?

A. There are no group types defined.

B. The group is not defined in SSO.

C. There are more than 32 group types defined.

D. The description for the group is not provided.

Correct Answer: A

Explanation: There is no group types defined when administrator is unable to create the first group in a new vRealize
Operations environment.

Reference: https://www.vmware.com/support/vrops/doc/vrops-601-release-notes.html

QUESTION 3
vMotion can be performed between which three physical boundaries? (Choose three.)

A. Between two vCenter Server Systems
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B. Between two vSphere Distributed Virtual Switches
C. Between two vCenter Server Datacenter objects
D. Between two VMware NSX Layer 4 segments

E. Between two NFS datastores

Correct Answer: ABC

vMotion can be performed between two vCenter servers, two vsphere distributed virtual swiches and between two
vcenter server datacenter objects.

Reference: https://www.vmware.com/products/vsphere/features/vmotion

QUESTION 4

Refer to the Exhibit.
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vmotion X

Al  Properies Policies

Propertes
Network label wymotion
VLAN ID None (0}
Security
Promiscuous mode Rejec
MAC address changes Accept
Forged transmits Accept
Traffic shaping
Avarage bandwidih -
Peak bandwidth
Burst size -

Teaming and Talover

Load balancing Route based on orginating wirtual port
Network failure detection Link sistus only

MNobfy switches Yes

Fallback Yes

Active adaplers vmnic3

Standby adaplers -

Unused adaplers wmnic2

ke F

An administrator has been given requirements to configure vMotion for a new virtual machine. The configuration should:
Provide Network Redundancy Use VLAN 550 Be secured against anyone trying to spoof communication

The vSwitchl configuration is shown in the Exhibit.

Which three changes should be made to meet the stated requirements? (Choose three.)
A. The VLAN ID must be set appropriately.

B. The default values for MAC Address Changes and Forged Transmits must be altered.
C. The teaming and failover adapters must be set appropriately.

D. The Traffic Shaping configuration must be altered.

E. The Load Balancing Policy must be set appropriately.
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Correct Answer: ABC

First, VLAN ID must be set appropriately. Default values for Mac address changes and forged transmits must be altered
and the teaming and failover adapters must be set accordingly.

QUESTION 5

An administrator is configuring the Failover Order option on a vSphere Distributed Switch.

Which two options should be used with IP-hash load balancing? (Choose two.)

A. Active Uplinks

B. Standby Uplinks

C. Unused Uplinks

D. Override Failover Order

Correct Answer: AC

Active Uplinks, and Unused adapter Uplinks are used with IP hash load balancing. Reference:
https://books.google.com.pk/books?id=35TE4cSycNACandpg=PA20landlpg=PA20l1landdqg=IP+hash +load+balancing+
active+uplinks+unused+uplinksandsource=blandots=ggg8VvVOCpw4andsig=EaqvN49p2UWQ5b6V53SkFFmJhcandhl=e

nandsa=Xandved=0ahUKEwivlruEhMbNAhVGL48KHfXaBN4Q6AEIUzAJ#v=
onepageandq=IP%20hash%20load%20balancing%20active%20uplinks%20unused%?20uplinksandf=false
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